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301. What is the name of part marked X? x ls fpfUgr Hkkx dk uke D;k gS\ 

 

 

 

 

 

 
 
A. Arbor vkcZj   B. Drill chuck fMªy pd 

C. Drill bit fMªy fcV  D. Chuck key pd dh 

Answer-A 

302. Which reamer has a long taper lead? dkSu ls jhej es ,d yack Vsij yhM gksrk gS\ 
A. Socket reamer lkWdsV jhej  B. Hand reamer gS.M jhej 

C. Machine reamer e”khu jhej  D. Helical fluted reamer gsfydy ¶ywfVM jhej 

Answer-B 

303. What is the type of defect on drilled hole?  
fMªy fd, x, gksy ij fdl izdkj dk nks’k gS? 

 
A. Rough holes vifj’dr̀ gksy   

B. Over heated drill vksoj ghV fMªy 

C. Oversized holes vksoj lkbt gksy  

D. Unequal flow of chips fpIl dk vleku izokg 

Answer-C 

304. What is the defect if pores of the grinding wheel get clogged?  
vxj xzkbafMax Oghy ds fNnz can gks tk, rks D;k nks’k gS\ 
A. Drilling fMªfyax  B. Glazing Xysftax 

C. Loading yksfMax  D. Dressing Mªsflax 

Answer-C 

305. Which cast iron has the ability to reduce vibration and tool chattering in machine tools?  
fdl dkLV vk;ju es e”khu VwYl es daiu vkSj Vwy pVfjax dks de djus dh {kerk gksrh gS\ 
A. Grey cast iron xsz dkLV vk;ju  

B. White cast iron okbV dkLV vk;ju 

C. Nodular cast iron xzafFkyh dkLV vk;ju  

D. Malleable cast iron vk?kkro/kZuh; <yokW yksgk 
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Answer-A 

306. Which furnace is used to produce wrought iron?  
jkWV yksgs dk mRiknu djus ds fy, fdl HkV~Vh dk mi;ksx fd;k tkrk gS\ 
A. Blast furnace CykLV QusZl  B. Cupola furnace diksyk HkV~Vh 

C. Puddling furnace iqfMax QusZl D. Electric arc furnace bysfDVªd vkdZ HkV~Vh 

Answer-C 

307. Which ore is used to extract zinc?  
tLrk fudkyus ds fy, fdl v;Ld dk mi;ksx fd;k tkrk gS\ 
A. Bauxite ckWDlkbV  B. Galena xsysuk 

C. Calamine dSysekbu  D. Cassiterite dslVsjkbV 

Answer-C 

308. Which tool is used to check the internal clearance of the bearing?  
fdl midj.k dk mi;ksx fc;fjax dh vkarfjd Dysjsal dh tkap djus ds fy, fd;k tkrk gS\ 
A. Steel rule LVhy :y  B. Feeler gauge Qhyj xst 

C. Depth gauge MsIFk xst  D. Vernier caliper ofuZ;j dSyhilZ 

Answer-B 
309. What is the name of part marked as X?  

x ds }kjk fpfUgr Hkkx dk uke D;k gS\ 

 
 A. Collar dkWyj  B. Square head Ldk;j gsM 

 C. Fingers fQaxlZ D. Body ckWMh 

        Answer-C 
310. What is the angle of ACME thread ?  

ACME थ्रेड का कोण क्या ह ै? 

A.  660                        B. 550 
             C.     290                         D.450 

                  Answer-C 
311. What is the advantage of centre screw in die stock? MkbZ LVkWd es ls.Vj LØw dk ykHk D;k gS\  

A. To tighten the die MkbZ dks dlus ds fy, 

B. To adjust the depth of cut  dV dh xgjkbZ dks lek;ksftr djus ds fy, 

C. To adjust the dia of internal thread  vkarfjd pwfM;ks ds O;kl dks lek;ksftr djus ds fy, 

D. To adjust the dia of external thread  ckgjh pwfM;ksa ds O;kl dks lek;ksftr djus ds fy, 

Answer-B 

312. What is the name of elements of screw marked as X? x ds :i es fpfUgr LØw ds rRoks dk uke D;k gS\ 



 

 

 

A. Root:V   B. Pitch fip 

C. Crest  ØsLV   D. Thread angle  FkszM ,axy 

Answer-D 

313. Which term describes the axial movement of screw in one complete turn? dkSu lk in ,d iw.kZ ?kqeko es 

LØw ds v{kh; xfr dk o.kZu djrk gS\ 
A. Lead yhM   B. Flank ¶ysad 

C. Pitch fip   D. Depth  xgjkbZ 
Answer-A 

314. How the size of drill bit is measured? | fMªy fcV dk lkbt dSls ekik tkrk gS\ 
A. Between flutes | ¶ywV~l ds chp  B. Between the lands  yaSM ds chp 

C. Between web osc ds chp   D. Neck diameter xnZu dk O;kl 

Answer-B 

315.  What is the helix angle of general purpose drill? lkekU; iz;kstu fMªy dk gsfyDl dks.k D;k gS\ 
A. 590   B. 1180 
C. 27.50  D. 80 to 120 

Answer-C 

316. What is the name of the tool?  
bl Vwy dk uke D;k gS\ 

 
A. Pilot drill  ik;yV fMªy 

B. Counter sink flad  

C. Drill with pilot fMªy ds lkFk ik;yV  

D. Countersink with pilot dkmaVjflad ds lkFk ik;yV 

Answer-D  
317. Which part of a reamer is designed for the removal of chips?,d jhej dk dkSu lk Hkkx fpIl fudkyus ds 

fy, fMtkbu fd;k x;k gS\ 



 

 

A. Face Qsl   B. Flute  ¶ywV 

C. Heel ghy   D. Cutting edge dfVax ,t 

Answer-B 

318. What is the purpose of type S twist drill? | Vkbi s f}LV fMªy dk mn~ns”; D;k gS\ 
A. Used for hard material | dBksj /kkrq ds fy, mi;ksx fd;k tkrk gS 

B. Used for high carbon steel | mPp dkcZu LVhy ds fy, mi;ksx fd;k tkrk gS 

C. Used for soft and tough material uje vkSj l[r lkexzh ds fy, mi;ksx fd;k tkrk gS 

D. Used for normal low carbon steel  lkekU; fuez dkcZu LVhy ds fy, mi;ksx fd;k tkrk gS 

Answer-C 

319. What is the reason for rough holes in drilling? fMªfyax es jQ Nsn gksus dk dkj.k D;k gS\ 
A. Unequal point thinning vleku fcanq dk iryk gksuk 

B. Drill point not in centre  fMªy ikWbZV es ugha gS 

C. Clearance angle is incorrect | Dyh;jsal ,axy xyr gS 

D. Drill cutting edges are not sharp fMªy ds dfVax ,t dkVus es rst ugh gS 

Answer-D 

320. Determine the drill size for finishing ø19 mm reaming hole (as per table under size 0.2 & over size 0.05 mm)? 

𝜙19 feeh jhfeax Nsn dks ifj’dr̀ djus ds fy, fMªy vkdkj dk fu/kkZj.k djsa (rkfydk ds vuqlkj vaMj 

lkbt 0-2 vkSj vksoj lkbt 0-05 feeh )\ 
A. 18.75 mm  B. 19.00 mm 
C. 19.25 mm  D. 19.05 mm 
Answer-A 

321. What is the name of operation?   
bl vkWijs”ku dk uke D;k gS? 

 

A. Drilling  fMªfyax     

B. Spot facing LikWV Qsflax 

C. Counter sinking dkmaVj flafdax   

D. Counter boring dkmaVj cksfjax 

Answer-D 

322. What is the reason if the drilled hole is larger than the drill size?;fn fMªy fNnz fMªy vkdkj ls cMk gS rks 

D;k dkj.k gS\ 
A. Drill is not sharp fMªy rst ugh gS  

B. Feed rate is too high QhM nj cgqr vf/kd gS 

C. Cutting speed is too high dkVus dh xfr cgqr vf/kd gS 

D. Unequal angle of cutting edge drZu fdukjs ds vleku dks.k 

Answer-D 

323. What is the term, the top surface joining the two sides of a thread? pwMh ds nksuks lrgks ls tqMus okyh “kh’kZ 

lrg dks dgrs gS\ 



 

 

A. Root:V   B. Crest  ØsLV 

C. Flank ¶ysd   D. Pitch | fip 

Answer-B 

324. What V denotes in grinding wheel specification 32A46H8V?  
xzkbafMax Oghy ds fofunsZ”k 32A46H8V es V D;k n”kkZrk gS? 
A. Bond  ckaM   B. Grade xzsM 

C. Abrasive  ,czsflo  D. Grain size  xzsu lkbt 

Answer-A 

325. What type of abrasive wheel is used for grinding die steel?  
MkbZ LVhy dh xzkbafMax ds fy, fdl izdkj ds ,czflo ifg;k dk mi;ksx fd;k tkrk gS\ 
A. Silicon carbide flfydkWu dkckZbM  

B. Green silicon carbide gjk flfydkWu dkckZbM 

C. White aluminium oxide lQsn ,Y;wehfu;e 

D. Brown aluminium oxide Hkwjk ,Y;wehfu;e vkWDlkbM 

Answer-C 

326. Which term indicates the amount of bond present between the individual abrasive grains?  dkSu lk “kCn 

O;fDrxr vi?k’kZd xzsUl ds chp ekStwn ckaM dh ek=k dks bafxr djrk gS\ 
A. Grain Sizexzsu lkbt  B. Grade xzsM 

C. Abrasive,czsflo  D. Structure lajpuk 

Answer-D 

327. What is the name of the part marked as X in vernier micrometer? ofuZ;j ekbØksehVj es ‘x’ ds :i es 

fpfUgr Hkkx dk uke D;k gS\ 
 
 
 
 
 
A. Barrel cSjy   B. Thimble fFkEcy 

C. Datum line MsVe ykbu D. Vernier division ofuZ;j fMohtu 

Answer-D 

328. What is the name of the part marked as X of telescopic gauge?  
VsfyLdksisd xst ds x ds :i es fpfUgr Hkkx dk uke D;k gS\ 

 
A. Spring fLizax   B. Handle gs.My 

C. Fixed leg fQDLM ysx D. Telescoping leg VsfyLdksfiax ysx 

Answer-D 

329. What is the name of the tool?  
bl Vwy dk uke D;k gS\ 



 

 

 

A. Reamer jhej   B. Spot facing tool LikWV Qsflax Vwy 

C. Countersink tool dkmaVjflad Vwy D. Counter boring tool dkmaVj cksfjax Vwy 

Answer-C 

330. What is the name of the angle marked as X in drill bit?  
fMªy fcV es x ds :i es fpfUgr dks.k dk uke D;k gS\ 
 

 

 

 

 
 
A. Helix angle gsfyDl dks.k  B. Lead angle yhM dks.k 

C. Point angle fcanq dks.k  D. Chisel edge angle Nsuh dk ,st dks.k 

Answer-C 

331. What is the name of element marked X in reamer?  
jhej es x ds :i es fpfUgr vo;o dk uke D;k gS\ 

 
A. Face Qsl  B. Heel ghy 

C. Flute ¶ywV  D. Cutting edge dfVax ,t 

Answer-A 

332. Which angle determines the rake angle of drills?  
dkSu lk dks.k fMªy ds jsd dks.k dks fu/kkZfjr djrk gS\ 
A. Helix angle gsfyDl dks.k  B. Core angle dksj dks.k 

C. Point angle fcanq dks.k  D. Chisel edge angle Nsuh dk ,st dks.k 

Answer-A 

333. What is the drill size for ø15 mm reaming hole?  
𝜙15 feeh jhfeax Nsn ds fy, fMªy vkdkj D;k gS\ 
A. 14.75 mm  B. 14.50 mm 
C. 15.25 mm  D. 14.65 mm 
Answer-A 

334. Why drilled holes are over sized in drilling operation?  
fMªfyax vkWijs”ku es fMªy fd, x, Nsn D;ks vksoj lkbTM gksrs gS\ 
A. Drill is not sharp fMªy dh /kkj rst ugh gS 

B. Unequal lip length vleku fyi yackbZ 

C. Feed rate is too high QhM nj cgqr vf/kd gS 

D. Cooling is insufficient “khryu vi;kZIr gS 



 

 

Answer-B 

335. What is the name of the operation producing flat seat on drilled hole? fMªy fd, x, fNnz ij ¶ySV lhV 

cukus okys vkWijs”ku dk uke D;k gS\ 
A. Drilling fMªfyax   B. Spot facing LikWV Qsflax 

C. Countersinking dkmaVj flafdxD. Counterboring dkmaVj cksfjax 

Answer-B 

336. What is the purpose of flute in drill? fMªy es ¶ywV~l dk mn~ns”; D;k gS\ 
A. To drive out the chips fpIl dks ckgj fudkyus dk 

B. To reduce the weight otu de djus ds fy, 

C. To reduce the cost ykxr de djus ds fy, 

D. To increase the speed xfr c<+kus ds fy,  

Answer-A 

337. What is the angle of countersink tool used on holes to be threaded? FkszMsM gksus okys Nsn ij mi;ksx fd, 

tkus okys dkmaVjflad Vwy dk dks.k D;k gS\ 
A. 750   B. 800 
C. 900   D. 1200 

Answer-D 
338. What is the formula to calculate the blank size of external thread (where p=pitch and d=depth)? ckgjh pwMh 

ds CySad lkbt (tgka ih = fip vkSj Mh = xgjkbZ) dh x.kuk djus dk lw= D;k gS\ 
A. D = d – p/10 B. D = d + p/10 
C. D = d × p/10 D. D = d ÷ p/10 
Answer-A 

339. What is the name of the die? MkbZ dk uke D;k gS\ 

 

A. Split die fLIyV MkbZ  B. Half die gkQ MkbZ 

C. Solid die lkWfyM MkbZ   
D. Adjustable screw plate die ,MtLVscy LØw IysV MkbZ 

Answer-B 

340. Which type of thread, the crest and roots are rounded to form a semi circle? fdl izdkj dh pwMh ds :V 

vkSj ØsLV v/kZ o`r cukrs gS\ 
A. Acme thread ,des pwM+h  B. Square thread oxkZdkj pwM+h 

C. Knuckle thread udy pwM+h  D. Trapezoidal thread VªsikstkWbMy pwM+h 

Answer-C 

341. What 5 denotes in grinding wheel specification 41A46H5U8? xzkbafMx Oghy fofunsZ”k 41A46H5U8 es 5 
D;k n”kkZrk gS? 
A. Bond ckaM   B. Abrasive ,czsflos 

C. Structure lajpuk  D. Grain size xzsu dk vkdkj 

Answer-C 

342. Which type of bonded wheel is used in foundries for dressing castings? Mªsflax dkfLVax ds fy, <ykbZ es 

fdl izdkj ds cksMsM ifg;k dk mi;ksx fd;k tkrk gS\ 



 

 

A. Silicate bond flfydsV ckWUM  B. Shellac bond “ksysd ckWUM 

C. Rubber bond jcj ckWUM  D. Resinoid bond jsftuksbM ckWUM 

Answer-D 

343. What type abrasive wheel is used for grinding cemented carbides? lhes.VsM dkckZbM dks xzkbaM djus ds fy, 

fdl izdkj ds vcszflo dk mi;ksx fd;k tkrk gS\ 
A. Green silicon carbide gjk flfydkWu dkckZbM  

B. Grey aluminium oxide xzs ,Y;wehfu;e vkWDlkbM 

C. White aluminium oxide lQsn ,Y;wehfu;e vkWDlkbM 

D. Brown aluminium oxide Hkwjk ,Y;wehfu;e vkWDlkbM 

Answer-A 

344. What is the value of one vernier division of a vernier micrometer?,d ofuZ;j ekbØksehVj ds ,d ofuZ;j 

fMohtu dk eku D;k gS\ 
A. 0.01 mm  B. 0.02 mm 
C. 0.009 mm D. 0.002 mm 
Answer-C 

345. What is the name of part marked as X in telescopic gauge? VsyhLdksfid xst es x ds :i es fpfUgr Hkkx dk 

uke D;k gS\ 

 

A. Handle gs.My  B. Fixed leg fQDLM ySx 

C. Plunger lock Iyatj ykWd D. Telescopic leg VsyhLdksfid ySx 

Answer-C 

346. What is the method of removing broken stud? VwVs gq, LVM dks fudkyus dh fof/k D;k gS\ 
 

 

A. Ezy-out ,th vkmV  B. Prick punch fizd iap 

C. Making drill hole fMªy Nsn cukuk 

D. Using square taper punch Ldk;j Vsij iap dk mi;ksx djuk 

Answer-A 

347. Why grey cast iron widely used for machine tools? e”khu VwYl ds fy, xzs dkLV vk;ju dk O;kid :i ls 

mi;ksx D;ks fd;k tkrk gS\ 
A. Rapid cooling rsth ls BaMk gksuk B. Reduce vibration daiu dks de djs 

C. High tensile strength mPp rU;rk “kfDr D. Very difficult to machining e”khfuax ds fy, cgqr dfBu 

Answer-B 

348. What is the tap drill size for M20 x 1.5?  



 

 

M20 × 1.5 ds fy, Vsi fMªy lkbt D;k gS\ 
A. 18.5  B. 20 
C. 19   D. 17 
Answer-A 

349. What is the drill hole size for 16 mm reamer?  
16 feeh jhej ds fy, fMªy Nsn dk lkbt D;k gS\ 
A. 15.75 mm  B. 15.50 mm 
C. 14.65 mm  D. 16 mm 
Answer-A 

350. What is the name of the part marked as X?  
x ls fpfUgr Hkkx dk uke D;k gS\ 

 

 
A. Breast plate czSLV IysV  B. Bevel pinion csosy fifu;u 

C. Frame work Ýse odZ  D. Locking screw ykWfdax LØw 

Answer-B 
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